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GENERAL INSTRUCTION TO THE EXAMINEES:
1. Temeft gdueE o1Ue Yv UH X AMEie farid: fored |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. T g9 BRI 2 |

All the questions are compulasory.

3. QP U BT SR & g IR GRS § &1 fofd |

Write the answer to each question in the given answer book only.
4. TS Ul 3 T<IRe Woe & 99 ¥ & IR T A Bl ford |

For questions having more than one part the answers to those parts are to be written

together in continuity.
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SECTION-A
(i) saL ¥ count function @I FEIT < B | iz
(A) Values (B) Distinct Value
(C) Group by (D) Columns

The count function in SQL returns the numbers of

(A) Values (B) Distinct Value
(C) Group by (D) Columns
(il) SELECT ROUND (153678, 2) < & &1 R &8I ? Y
(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7

What will be returned by the given query ? SELECT ROUND (153.678,2)

(A) 153.6 (B) 153.67
(C) 153.68 (D) 153.7
(iii) R digital foot print fhd® §RT I9R—IT ST AHdT & | Ya

(A) Visiting any website  (B) Sending email
(C) Positing online (D) All of the above
Our digital foot print can be created by -

(A) Visiting any website  (B) Sending email

(C) Positing online (D) All of the above
(iv) PANDAS & 37ef Y
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure



PANDAS stand for.
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure

(v) H=ITRI & T | Heg AT S B & (oY e werd &1 WA fdhar Sirar 21 Y
(A) Mean () (B) Median ()
(C) Mode () (D) Count ()

Which function is used to find the middle numbers from a set of numbers ?

(A) Mean () (B) Median ()
(C) Mode () (D) Count ()
(vi) Plot ST ARSI AR << & oIy WART fhar S & 98 © Y
(A) Bar (B) Line
(C) Histogram (D) Box plot.

Plot which is used to given statistical summary is

(A) Bar (B) Line
(C) Histogram (D) Box plot.
(vii) Matplotlib ffeT eTEsT & ? Y
(A) 1D (B)2D
(C) 3D (D) All of above
Matplotlib is .......... plotting library
(A) 1D (B)2D
(C) 3D (D) All of above
(viii) 99 UST fhsg HT9T BT SUANT B g91=T ST 8 2 Y
(A) XML (B) JAVA

(C)C (D) HTML



Web pages is created using language

(A) XML (B) JAVA
(C)C (D) HTML
(ix) fefStea ug forg wufed gd & ? Y
(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.

Digital footprints are stored ..............

(A) Temporarily (B) Permanently
(C) For 7 days only (D) For 3 days.
(x) FreforRad § 3 {59 topology # wca®d @I GRI oWl H del dTell Ud ddbdi
S Bl & | Y
(A) Star (B) Bus
(C) Mesh (D) Tree

Which of the following topology contains a backbone cable running though the whole
length by the network .

(A) Star (B) Bus
(C) Mesh (D) Tree
() — B BT STANT fom /4 yalRia &= @ forv foar Sirar 2| Y
(A) Showing (B) show
(C) Display (D) screen
.................. Function is used to display figure chart.
(A) Showing (B) show
(C) Display (D) screen
(xii) fSTee ®Y A plot () TP ..o e g1 8 | Y
(A) Histogram (B) Bar graph

(C) Line Chart (D) Pie Chart



By default plot () function plots a............. :

(A) Histogram (B) Bar graph
(C) Line Chart (D) Pie Chart

(xiii) Aggregate function Bl & — Y
(A) Max () (B) Min ()
(C) Sum () (D) All above

Aggregate functions are

(A) Max (B) Min
(C) Sum (D) All above

(xiv) Record DI TN B+ & U SUART fobam S aTell TS 2 | Y
(A) Update (B) Add
(C) Update all (D) Nun of above

Perform's pattern the command used for modifying the record is -

(A) Update (B) Add
(C) Update all (D) Nun of above

(xv) ABTT A UTT R & fIU DI F sqL ! I BT SYANT fhar SIrar g | Y
(A) Maximum (B) Most
(C) Upper (D) Max

Which SQL keyword is used to retrieve a maximum value ?

(A) Maximum (B) Most
(C) Upper (D) Max

(xvi ) Fr=ferRaa % ¥ SQL aggregate function ® | iz
(A) LEFT (B) AVG

(C) JOIN (D) LEN



Which of the following is a SQL aggregate function ?

(A) LEFT (B) AVG
(C) JOIN (D) LEN
Q 2 (i) [T 1 Sicad H & HAYSR DI FHal Il T ... %

The main computer in any network is called as ............... .

(1) J— HIREI JANIRHT Ugd & B 7 | Y

..................... is the act of unauthorized access to a computer.

(iii) TP SU NI U sqL 3rfaaafad g 1 O T ......... U 3T SQLHAT H I@T AT 7 | %
A Sub query is an SQL expression that is placed ................. another SQL Statement.

(iv) Select query T ....ccoec.c... clause B TRUITH H ®del Swa! Ufdadl & a9 BT DI

AT <aT © S U&h IS o1 &l q_1T el 2 | Vs
The ............. clause of select query allows us to select only those rows in the result that satisfy a
specified condition.

() 36 BT SYART ATfetdl H fHAT record BT AT B & forv fovar irar 21 %%
Theterm ............... is used to refer a record in a table.

(0 — g BT SYART ATfIdT H B field B FafHd dx & forv foar e 21 %
The term .......... is used to refer to a field in table

(vii) TP Ader 7 BIE AT foreign key & IS a8 fHal g Haer § ... ol gl Y
An attribute in a relation in foreign key itis the ................ key in any other relation

L) p— & SUART data frame  ATH A URId &1 & fog foar s 21 %
................. is used to display the minimum valus from the data frame.

(9 J—— Td computer & SIl 3 UIITH AT H¥FYE HI HAY J& HRAT T | %)
A is computer that provides serious to other programs of computers.

(x) Digital foot print ............... Y ¥ GBI B T | iz

Digital foot print are stored .................. .
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Answer the following questions

(i)

Table

1

Name

Unite test

Maths

Science

S. St

Hindi

English

Arvind

1

15

22

25

22

21

| vl & foly SRfI== §RT UTa <LAcH 3 UGRId &+ & oY statement ol |

Write the statement to display the minimum marks obtained by Arvind in limit test for all subject.

(i) Missing value ¥ 310 &1 AT & 2

What do you understand by the term missing value.

(iii) "Rajasthan" ¥req # 3R ST &)1 &1 SQL statement ford |

Write SQL statement to count alphabets in word "Rajasthan”

(iv) DT SQL RewT o™ bl <) 8 RET & A WIE Uil BT g & dTg,

Red s § SuanT fhar ordr 2

Which SQL string function is used to returns the given string after removing trailing white space

characters.

(v) Pandas &I $9cial &’ & oIy wHie g ford |

Write command line to install Pandas.

(vi) Legend &T IT SeF & 7

What is the purpose of a Legend ?

(vii) T topology ¥ dddI ®del BT & Wil Q¥ "cdd H daldl © ?

Which topology contains a backbone Cable running through the whole length of the network?

(viii) 'Cyber Crime' & T #olald & ?

Wwhat is meant by the term 'Cyber Crime'?

1
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Section B

Q4. SQL command & I~ SIS foTed | 1%

Write the output produced by the SQL Commands;

SELECT POW (3,2)

Q5. SQL TR | I~ 3M3cye ford | 1%

Write the output of the following SQL queries
SELECT RIGHT('SCIENCE!, 4);

Q6. Series @ IMMHR I 3T AT THSIA © ° 1%
What do you understand by the size of Series?
Q7. Dataframe, 2D array ¥ & UdR i § ? 1%

How is it Dataframe different from a 2D array ?

Q8. SQL R ¥ IU~ 3r3cye forg ? 1%
Write the output the following SQL queries SELECT LENGTH ("Gurpreet") ?

Q 9. Data frame. quantile () @I TR &R | 1%
Define the terms Data frame.quantile()

Q10. Pandas fSS[eTelTgorerd &l uiRHINT & | 1Y%

Define Pandas Visualisation.

Q11. SQL TR | I~ 3M3cye ford ? 1%

Write the output of the following SQL queries
SELECT RIGHT ("SCIENCE" 3)

Q12. eSS 3R 99 Ul H 3R g8y ? 1Y%
Differentiate between Website and web page.
Q13. VolIP SHsIa ? 1Y%

Explain VoIP ?



Q14. Copyrights 3R Patents # 37X a3V | 1%
Write the differences between Copyrights and Patents .

Q15. Phishing 3iR Fraud, 3—#al # 3R fe1fRau | 1%
Write the difference between Phishing and Fraud Emails.

YUs Y

Section C
Q 16. Single row function 3R Aggregate function H ®Is &I 31X feTfRay | 3

Write any two difference between Single row function and Aggregate function.

317dT / OR
HTAT TOT F MY AT FH 2 |

What do you understand by Cartesian Product ?

Q17. 418 A & Ic B b GRIIRT & | 3
Define Plotting Pie chart.
372[d1 / OR
Plotting scatter chart &I TRHIYT &N |
Define Plotting Scatter chart
Q18. Y& IETEXVT &I A=Al F Group by @1 @RI HI A | 3

Explain the concept of Group by with help of an example.

3721d1 / OR

Data analysis H AT U HecduyUl JTHRON R 2
Why estimation is an important concept in data analysis?
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Section D
Q19. 4
Table: Student
SCode SName SMarks SSubject
S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY
(A) Student \ROI T |
() B B YR o |
(c) IRofl @I BTAT & 9T HATTAR TSR B |
Table: Student
SCode SName SMarks SSubject
S01 GURPREET 82 ENGLISH
S02 ARVIND 54 MATHS
S03 MANDJ 45 COMPUTER
S04 RAVINEDRA 65 ECONOMICS
S05 NARESH 38 BIOLOGY
S06 SAKSHI 89 BIOLOGY
(A) Create Student table.
(B) Display the total number of student.
(C) Display Student Name in Ascending Order.
31e7dT / OR
Using the sale table from CAR SHOWROOM database
SALE
INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss
No Mode Price
1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022
1002 S0001 | C0002 | 12-12- Credit Card | E001 590312 12,000
2021
1003 S002 C0003 | 15-01- Cheque EO010 604000 11,000
2022
1004 D002 Cc0004 | 11-11- Bank EO007 569982 11,000
2022 Finance
1005 E001 C0005 | 01-02- Credit card E002 639310 11,500
2022
1006 S002 C0006 | 20-02- Bank EO007 620214 12,500
2022 Finance




famr arferar &

(A) U® TEH §RT WGl T3 BRI & FEIT USRI DI |

() Il UTEd 1 faeh! drfeTdT | Tah A 31f¥id HR WGl § df WGl T8 BRI & TTEH I8 S

3R AT gafRid |

Sale table from

Using the sale table from CAR SHOWROOM database

SALE

INVOICE Carld Cust ID | Sale Date | Pyment Emple Sale Commiss

No Mode Price

1001 D001 C0001 | 14-09- Online. E004 63247 10,000
2022

1002 S0001 | C0002 | 12-12- Credit Card E001 590312 12,000
2021

1003 S002 C0003 | 15-01- Cheque EO10 604000 11,000
2022

1004 D002 c0004 | 11-11- Bank EOQO7 569982 11,000
2022 Finance

1005 EO0O01 C0005 | 01-02- Credit card E002 639310 11,500
2022

1006 S002 C0006 | 20-02- Bank EOO07 620214 12,500
2022 Finance

(A) Display the number of cars purchased by each customer from the Sale table.

(B) display the customers Id and numbers of Cars purchased if the customer purchased more
than one car from Sale table.

Q20.

TABLE : PRODUCT
ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

2 TS IR Uiede & foru fAeforRad urged code foIfRaw |

(A) SWRIGT AIfTBT & fTT data fram 999 & T |
(B) LGTV & JAfTHTHIS BT UGRIT B & o1y |




TABLE : PRODUCT

ltem Company Rupees USD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

Assuming the given table: Product. Write the Python Code for the following
(A) To create the data Frame For the above table.
(B) To display the maximum price of LG TV.

31eraT / OR
for= aRvrfyg @ |
(i) A (i) ggTD (iii) AHD fager

Define the terms: (1) Mean, (ii) Mode, (iii) Standard Deviation.





